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2.7.5
71b (K5 108 ) 2 73a (™97 RI75K))

I 9% yIR nin regarding status of multilple nwk »avn
a. A5 according to opinion that owx could be generated without awareness before he was 1299 w90

i. if: he had multiple mx’a with a nayIn nnaw (owra 1n), he only owes one DWK
1. even if: he was aware of the 170’x between violations (since ny*1 has no significance)
ii. challenge (8212077 ”): if so, he could set aside DWR & then violate again he would only be 2»n that one
")
iii. defense (851p): after nwan, it is certainly a separate act (and generates separate DWR 1)
b. 77’1 according to opinion that DwR requires ny»1 before nw1an
i. If: he had multiple mx>a with a n"v, he would owe 1 nwx for each nxr»a
ii. Challenge (»2x): nron, which requires ny>1 before nw1an, and Y"aw1/" disagree about mpYnn my»p
(above)
iii. Rather (7an): perhaps he was referring to ny»1 after nwian (per ®1nn ")

1. 977 concurred — that was the case to which he was referring
c. a7 had 3 enigmatic statements

i. All agree about n”¥. that there is only one 2vn (in case of my>»1 before nw1an, per XNY)
ii. All agree about n’¥. that there are multiple navn (in case of nY>1 after nwIaN, per RMNA ")
iii. Dispute about n”¥. according to opinion that nwx requires N1 — the dispute of 5”24/ applies
here

II. Dispute »ar/ra1 regarding level of intent needed to generate 21n
a.  ~7p: if he intended to lift up wi9n and instead cut 7270 — M4 (he didn’t complete the act he intended)
i. But if: he intended to cut w15n and instead cut 12100
1. »an liable — he intended an act of cutting and that’s what he accomplished
2. x27 exempt —he didn’t intend a prohibited act of cutting
a.  Support: X112 which contrasts naw to other nngn

i naw. is more severe — if he had 2 violations in one nYyn, liable for 2 mrvn (unlike RWY
mxn)
ii. nnyp vy »w without intent is liable, which is not true about naw

III.  Analysis of xn»91 invoked by xa3
a. mawz i liability for 2 violations during one n%yn, unlike other mixn

i. Question: if the referent is 2 marYn, the parallel might be eating 25n and o7 — also 2 mxon
ii. perhaps: other n1¥n must mean eating 25n and more a9n, but the parallel in naw (¥ ¥p) is also 1
nrRoYN
iii. Rather: naw is 2 maron and “other mgn” refers to Nt NTay, per R
1. px 7 if he did all 4 mymay under one n%yn — only liable for 1
iv. Challenge: if “other nxn” is 1"y, then what is the case of 2w without intent where there is liability?

1. If: he thought it was a nv2 n’a and he bowed - this is “nnwY 125” — certainly exempt
2. Must be: that he bowed to an image of the king — but what was his motivation?
a. If:he accepted him as a deity — that is “intent”
b. And if: he didn’t accept him as a deity — he isn’t liable
i. Must be: that he worshiped due to Nk nanR (e.g. to curry favor with his pagan
friend)
1. Note: that is only valid according to »ar (2n nxr” nanrn); but 11 exempts...?
3. Rather: must be a case of \mn ImR (thought that 1"y was permitted) — and he is liable
a. But: even regarding naw, X171 only asked 1 if he is liable 1 or many (maxYm naw nnw) but
not Mva
4.  Conclusion: nxn IRW in 1st half refers to 1”y; in 2nd half refers to other mxn
a.  Other myp: e.g. he thought the food was 1mw and ate it — 27n
b.  naw. if he intended to cut w1on and cut 92101 — must be exempt (support for r17)
i. »ax: must be a case where he thought the food was spittle and he swallowed it
1. Parallel: if he intended to lift w190 and cut 921n0; but if he intended to cut v1o)n and
cut 712N - 217N
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IV. Further examples of dispute 817/7aRr regarding level of intent
a.  N1p: if he intended to throw an item (in 9”77) 2 MR (M03) and threw it 4 mmy (210 YY)

i. ~27 exempt — he didn’t intend to throw it 4
ii. »3x: liable — he did intend to throw it
b. »7m: if he intended to throw it X”7 but thought it to be »"n3, yet it proved to be 1”m
i. ~27 exempt — he didn’t intend a prohibited throw
ii. »3x: liable — he intended to throw it

c.  Justification (of all 3 disputes, including one above):
i. If: we only learned about lifting/cutting
1.  Wewould think: that X271 only exempted in that case, since he didn’t intend 8mo>RT 2NN
2. But:in case of 2 >4, 2 is a necessary step towards 4 and ®11 would have agreed to avn
ii. And if: we only had 2->4 case
1. We would think: he exempts in case of 2->4, as 2 is not prohibited
2. But: in case of »"n1>7"M", he intended to throw it 8™, X271 would have agreed to 21'n >%"np
d. Analysis: against next mwn; enumeration teaches that if he did all 39 mar under 1 n5yn, he’d be
liable for 39 mxon

i For »ax: this works well; he knew it was naw, he knew that maxYn are prohibited, but erred
with omyw
ii. But for x37. it will work if he accepts 1311’ 1 — that aw can be lack of awareness of N1

1. But: if he accepts 9"av (need to have ignorance of the 18%), how can he construct 39 nayn?
2. Answer: he remembers pmnn MR (according to ™, who holds that xn»nxT pminn
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